Kuta Software - Infinite Geometry Name

Similar Triangles Date Period

State if the triangles in each pair are similar. If so, state how you know they are similar and complete the
similarity statement.

1) 2)

D A
H
16 84 B 15 14
g 39
U 16 E G g F
C 4 B
40
ACBA ~
T
AUTS ~
3) ; 4) y
49
y 14
v 28 U U T
7 8
J
AVUT ~ A
L K
AJKL ~
5
)U T 6) 88
L
%
= s ci7 M
S AKLM ~
c B

ASTU ~



7) 8)

B 54
%/ G
84
70 "
AEFG ~
v 42 T
0 25 -
ISV
30
N
ATUV ~
9) g 10) v
9/76° 18
1%
61° - w
T H G H
61°
21
G = 760
AHGF ~ F
AFGH ~
11) 12)
< 143 > E . c
F R 91 £
44 10
eg\ S 121 B
56 v
D
AFED ~ 27
T 30 U
ATUV ~



Find the missing length. The triangles in each pair are similar
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Solve for x. The triangles in each pair are similar.
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Sag®™ beko Similar Triangles Word Problems

1. A statue, honoring Kobe Bryant, can be found in Los Angeles near the Staples Center. Use the
information below to determine the unknown height of the statue.
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2. A tree 24 feet tall casts a shadow 12 feet long. Brad is 6 feet tall. How long is Brad's shadow?

3. Triangles EFG and QRS are similar. The length of the sides of EFG are 144, 128, and 112. The
length of the smallest side of QRS is 280, what is the length of the longest side of QRS?

4. A 40-foot flagpole casts a 25-foot shadow. Find the shadow cast by a nearby building 200 feet tall.

5. A girl 160 cm tall, stands 360 cm from a lamp post at night. Her shadow from the light is 90 cm long.
How high is the lamp post?

160 cm

90 cm 360 cm

6. A tower casts a shadow 7 m long. A vertical stick casts a shadow 0.6 m long. If the stick is 1.2 m
high, how high is the tower?



